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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
- weife arsi Tex wie ¢
a) What is the best definition of Public Policy?
GeIfes Al FeewiG e
b) What is the importance of Public Policy?

Geeifod wwg 52

c) What is Neheruvian Vision?
(Ieeze vl i e

d) Who determines the Public Policy?
& Gaeite fodize wcae

[Turn over]

e) What is Post Liberalization period?

Ted TrIdIess o elce fF [@iate

f)  What are the factors in considering policy making?

Geaife fafare fefeefer e
g) Who are responsible for Public Health in India?

olce TRy @ @ witgie e
h)  Why is policy important in education?
PR Geiie (e @gsle 2
1)  Write two problems of policy implementation in
India.
TS Aife ARIARCE Yo 07 Trar 4 |
j)  Write two importances of Public Policy in public

administration.

TN Gt 4o @FY SrEd 4 |
k) What policies can be applied to protect the

environment?

AT T (G (I Mo 2R 1 222
1)  What is public health care system?

GeTEE Ay o e
m) What is Policy Cycle?
v 52
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Does India have public health care?

ORI GARIEA 1Y SIicE e

o) What is the role of Supreme Court in policy
formulation in India?
OO GG I Al (FIOH S 62
2. Answer any four questions: 5x4=20

- oo 2ead Ted 7is ¢

a)

b)

d)
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Write a short note on advantage of environmental

policy.
Afaciore Sifea Afuale E g Bt @14 |

Discuss health issues in India 2021.

OIS R0%S AT TR [ SNETw 41

Explain Impact of Liberalisation on Indian

Economy.

ooy SdNiferes THIAFAET Ao ST 7 |

Analyse what was the Neheruvian Model of growth

and development.

e @ T (T v 52 Sl 4 |

Discuss the major political challenges to Public

Policy implementation in India.

CA® ENFAIe VA A4 Aeres el
S 4 |

[Turn over]

f)

3. Answer any two questions:

Explain Rational Model of policy making.

o N

i AR (TGS T SNCEAGA F9 |

10x2=20

@-CFIe 7o eoas Ted wie ¢

a)

b)

d)

How capable are the implementers to develop and

carry out a new policy?

Wl ey

e It B @ AT (G FOB] 35 2

What are the significant characteristics of the
political system that enable it to endure over time

and turn demands into output? Discuss.

eI gl Felle [feq JNEa i @ ©iF IReEE
& & sl @MY @ TR SAEHA 9|

Analyse Nature, Scope, and Utility of Policy

Sciences.

fa

AifeRelem a3fs, (Faq @32 TARITES! SETEal 39|

Give a brief outline of the Political Public Policy

in India.

/de~ PN e o

CRICST AT e FF I SIEThal 34|
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